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A B C D E F

� x y1=x2-1 y2=x2+1 y=k*(y1/y2) k
1 -2 3 5 6 10
2 -1,8 2,24 4,24 5,28301887
3 -1,6 1,56 3,56 4,38202247
4 -1,4 0,96 2,96 3,24324324
5 -1,2 0,44 2,44 1,80327869
6 -1 0 2 0
7 -0,8 -0,36 1,64 -2,195122
8 -0,6 -0,64 1,36 -4,7058824
9 -0,4 -0,84 1,16 -7,2413793
10 -0,2 -0,96 1,04 -9,2307692
11 0 -1 1 -10
12 0,2 -0,96 1,04 -9,2307692
13 0,4 -0,84 1,16 -7,2413793
14 0,6 -0,64 1,36 -4,7058824
15 0,8 -0,36 1,64 -2,195122
16 1 0 2 0
17 1,2 0,44 2,44 1,80327869
18 1,4 0,96 2,96 3,24324324
19 1,6 1,56 3,56 4,38202247
20 1,8 2,24 4,24 5,28301887
21 2 3 5 6
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1 −= xy  

2) 12
2 += xy  

3) 21 / yyy =  
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y1=x2-1

y2=x2+1

y=k*(y1/y2)


